 EQ \b\lc\{(\a\al\hs3\vs3(5x\s\up8(2)-15xy+10y\s\up8(2)=14;3x\s\up8(2)-9xy+6y\s\up8(2)=7)) 
Выносим общий множитель.

 EQ \b\lc\{(\a\al\hs3\vs3(5\b(x\s\up8(2)-3xy+2y\s\up8(2))=14;3\b(x\s\up8(2)-3xy+2y\s\up8(2))=7)) 
Следующая система эквивалентна предыдущей.

 EQ \b\lc\{(\a\al\hs3\vs3(5\b(x\s\up8(2)-3xy+2y\s\up8(2))-2·3\b(x\s\up8(2)-3xy+2y\s\up8(2))=1·14-2·7;3\b(x\s\up8(2)-3xy+2y\s\up8(2))=7)) 
Преобразуем уравнение.

 EQ \b\lc\{(\a\al\hs3\vs3(\b(5-2·3)\b(x\s\up8(2)-3xy+2y\s\up8(2))=0;3\b(x\s\up8(2)-3xy+2y\s\up8(2))=7)) 
Следующая система эквивалентна предыдущей.

так как  EQ x\s\up8(2)-3xy+2y\s\up8(2)≠0 
 EQ \b\lc\{(\a\al\hs3\vs3(5-2·3=0;3\b(x\s\up8(2)-3xy+2y\s\up8(2))=7)) 
Следующая система эквивалентна предыдущей.

 EQ \b\lc\{(\a\al\hs3\vs3(5-2·3=0;3x\s\up8(2)-9xy+6y\s\up8(2)=7)) 
 EQ \b\lc\{(\a\al\hs3\vs3(-1=0;3x\s\up8(2)-9xy+6y\s\up8(2)=7)) 
нет решений

